Test Chapter 5and 6.1 Algebrall Name

SHOW ALL WORK

|. Multiple Choice

1. Which of the following isthe factorization of 16a° + 50a— 21 ?
A. (2a-3) (8a+7) C. (2a+7) (8a-3)
B. (2a+ 3) (8a—7) D. (2a—-7) (8a+ 3)
E. (16a—7) (a+3)

2. What would be your first step in completely factoring 6&° —15a + 6 ?
A. Look for factors of 6a° and 6.
B. Factor out acommon factor of a.
C. Factor out acommon factor of 6.
D. Factor out acommon factor of 3.
E. It iscompletely factored .

3. Howcanyousolve b?+4b=21 ?
A. Factor b? + 4b and set each factor equal to 21.
B. Factor b? + 4b and set one factor equal to 7 and the one factor equal to 3.
C. Factor b® + 4b and set each factor equal to 0.
D. Factor b? + 4b + 21 and set each factor equal to 0.
E. Factor b® + 4b — 21 and set each factor equal to 0.

4. Write (4x) 2y 2 7% in simplest form with no negative exponents.
1 1 Z z

A ——= B. —— C. ——= D. —— E. 16x%y®
16x°y° 4x%y° 16x°y° 4x%y° Y
5. Solve 6x°+5x —4 =0 for x?
A. x:—],E B. x:—i,Z C. x:i, _4 D. x=4, 1
3 2 2 3 6



[1. Simplify the following:
6. (12¢y) (x°) (v*)

7. (38&+5a-2) (a-7)

8. 27xy’® + 8lxy

9. (AC+3x+5)—(2F+4x+1)

10. 5xy (4x% + 2xy +y?)

11, (BW—wW? + 4 —w) + (4w* = 2wW> + 4w + 7)

[11. Factor the following completely:

V. Solve and check.

12.

13.

14.

15.

16.

17.

18.

19.

20.

n+ nt®

x> —8x +16

50 & + 145a- 105
2x° — 50x

8x3 + 27

2xy + 3x + 8y + 12

k?—6k+9=0

y?—y—12=0

The area of arectangle is 48 square meters. Itslengthis
8 meters more than its width. Determine the dimensions
of therectangle. You must solve this by factoring to
receive full credit.



